1. Is H= the column vectors of the matrix M= [1   0   2   0]  cR^4 linearly independent or

                                                                          [4   0   3   0]                  linearly dependent?

                                                                          [5   0   -1  0]                 Justify your answer.

                                                                          [-2  -3  1   1]

Help:

[1   0   2   0]  

[4   0   3   0]                  

[5   0   -1  0]        is a 4x4 matrices.    

[-2  -3  1   1]

